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Централизованное тестирование по английскому языку, 2020

При выполнении заданий с кратким ответом впишите в поле для ответа цифру,
которая соответствует номеру правильного ответа, или число, слово,
последовательность букв (слов) или цифр. Ответ следует записывать без
пробелов и каких-либо дополнительных символов. Так как на экзамене
распознавание апострофа в бланках ответов будет затруднено, записывайте ответ
в полной форме, например: donotknow, вместо don'tknow.

В заданиях, где нужно установить соответствие между двумя столбцами, ответ
запишите в виде сочетания букв и цифр, соблюдая алфавитную
последовательность букв левого столбца. Некоторые данные правого столбца
могут использоваться несколько раз или не использоваться вообще. Например:
А1Б1B4Г2.

Если вариант задан учителем, вы можете вписать или загрузить в систему ответы
к заданиям с развернутым ответом. Учитель увидит результаты выполнения
заданий с кратким ответом и сможет оценить загруженные ответы к заданиям с
развернутым ответом. Выставленные учителем баллы отобразятся в вашей
статистике.

In 2010, a huge earthquake  (1)  ... Haiti, causing the deaths of over a hundred
thousand people. The international community jumped into action to provide aid. On
this occasion, funds  (2)  ... with amazing speed    — within a week of the quake, the
American Red Cross had raised $22 million. The reason? People (3) ... via their mobile
phones.

Technological advances have changed how charities work. Gone are the days
when someone (4) ... on your front door and politely asked you to make a donation. In
today’s world of computers, smartphones and tablets, charities can now reach more
people than ever before. Social media in particular  (5)  ... a great impact on charity
fundraising. New, innovative ways of donating are being thought up all the time. For
example, if you want to support a good cause and keep fit at the same time, you can use
an app called Charity Miles. The app can track the distance you run or cycle. For every
kilometre you cover, the app’s sponsors (6)  ... a donation to a charity of your choice.
Apps like Charity Miles  (7)  ... in number, and that can only be a good thing. In the
future, it’s likely that we’ll all be able to give to our favourite causes more easily and
more often.

1.  Прочитайте текст. Выберите один из предложенных вариантов ответа. За-
полните пропуск (1).

1) has hit 2) was hit 3) hit 4) has been hitting 5) is hitting

2.  Прочитайте текст. Выберите один из предложенных вариантов ответа. За-
полните пропуск (2).

1) are raising 2) were raised 3) raised 4) have raised 5) raise

3.  Прочитайте текст. Выберите один из предложенных вариантов ответа. За-
полните пропуск (3).

1) were donating 2) are donated 3) were donated 4) have donated
5) are donating

4.  Прочитайте текст. Выберите один из предложенных вариантов ответа. За-
полните пропуск (4).

1) has knocked 2) is knocked 3) will knock 4) was knocked
5) knocked

5.  Прочитайте текст. Выберите один из предложенных вариантов ответа. За-
полните пропуск (5).

1) was having 2) has had 3) had had 4) would be having
5) would have

6.  Прочитайте текст. Выберите один из предложенных вариантов ответа. За-
полните пропуск (6).

1) were made 2) had made 3) are made 4) will be made
5) will make
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7.  Прочитайте текст. Выберите один из предложенных вариантов ответа. За-
полните пропуск (7).

1) are grown 2) were grown 3) will be grown 4) are growing
5) had grown

Sociologists have been carrying (1) ... research into the social pressures of being a
teenager. Many adolescents are unhappy at school because they find it difficult to make
friends. This stress can bring on illness or result  (2)  ... poor grades. They may also
worry about their appearance and often feel under enormous pressure to dress, talk and
behave the same as others. This phenomenon is called peer pressure, and it is very
common in today's society. Advertising contributes a lot  (3)  ... the social pressures
teenagers feel. Advertisers know how important it is to feel that you belong  (4)  ... a
group when you are in your teens, so they try to persuade teenagers that certain
products will make them popular (5) ... their classmates.

8.  Прочитайте текст. Выберите один из предложенных вариантов ответа. За-
полните пропуск (1).

1) out 2) off 3) away 4) over 5) —

9.  Прочитайте текст. Выберите один из предложенных вариантов ответа. За-
полните пропуск (2).

1) at 2) with 3) by 4) to 5) in

10.  Прочитайте текст. Выберите один из предложенных вариантов ответа.
Заполните пропуск (3).

1) for 2) with 3) at 4) to 5) in

11.  Прочитайте текст. Выберите один из предложенных вариантов ответа. За-
полните пропуск (4).

1) for 2) to 3) about 4) at 5) —

12.  Прочитайте текст. Выберите один из предложенных вариантов ответа.
Заполните пропуск (5).

1) for 2) to 3) with 4) in 5) of

(1) What’s ... right age to leave home? These days, many people continue to live
with their parents into their twenties, or even thirties. In my opinion, we should leave
home early, but it is not... option for everyone.

(2) Probably... main reason why people stay with their parents is because they
cannot afford to leave. You need to have a job and be able to pay your rent and bills. In
... addition, you have to pay for your own food and clothes.

(3) On the other hand, leaving home gives you ... greater freedom. You can also
find flatmates who share your interests, so life can be ... fun.

(4) Another consideration is that we suddenly have to do everything ourselves, but
we can learn a lot from it. As ... result, we become more able to take ... care of
ourselves. All in all, I think it’s good to move away from home when we are young
because it teaches us to be independent.

13.  Прочитайте текст. Выберите один из предложенных вариантов ответа.
Заполните пропуск (1).

1) —, — 2) the, an 3) a, the 4) a, an 5) the, the 6) a, —

14.  Прочитайте текст. Выберите один из предложенных вариантов ответа.
Заполните пропуск (2).

1) the, the 2) —, — 3) the, an 4) the, — 5) a, —

15.  Прочитайте текст. Выберите один из предложенных вариантов ответа.
Заполните пропуск (3).

1) a, a 2) the, a 3) the, the 4) —, a 5) —, —

16.  Прочитайте текст. Выберите один из предложенных вариантов ответа.
Заполните пропуск (4).

1) the, the 2) a, a 3) a, — 4) —, — 5) the, a
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17.  Прочитайте предложение. Выберите один из предложенных вариантов
ответа.
 

Are ... of you two interested in coming with me?
1) either 2) none 3) any 4) anybody 5) no

18.  Прочитайте предложение. Выберите один из предложенных вариантов
ответа.
 

In the ... it was believed that watching television could improve children’s grades.
1) sixties 2) sixty 3) sixtieth 4) sixty’s 5) sixties’

19.  Прочитайте предложение. Выберите один из предложенных вариантов
ответа.
 

Dad has threatened to sell my dog if it doesn't stop ... all night!
1) bark 2) to bark 3) barking 4) barked 5) to barking

20.  Прочитайте предложение. Выберите один из предложенных вариантов
ответа.
 

Our apartment is being decorated, ... my parents can sell it.
1) because of 2) in order 3) so as 4) so that 5) despite

21.  Прочитайте предложение. Укажите номер подчеркнутого фрагмента, в
котором допущена ошибка.
 

According to one experiment (1) it is possible (2) for large families (3) to live in
small apartments (4) if they respect each others' privacy (5).

1) 1 2) 2 3) 3 4) 4 5) 5

22.  Прочитайте предложение. Укажите номер подчеркнутого фрагмента, в
котором допущена ошибка.
 

At the moment (1) going to work (2) in a car (3) can be extremely time-consuming
for busy people (4), especially where it's a lot of traffic (5).

1) 1 2) 2 3) 3 4) 4 5) 5

23.  Прочитайте предложение. Укажите номер подчеркнутого фрагмента, в
котором допущена ошибка.
 

Researchers have discovered that the speed (1) at what people drive (2) can be
dramatically affected (3) by the speed of the music that they are listening to (4) in their
cars (5).

1) 1 2) 2 3) 3 4) 4 5) 5

24.  Прочитайте предложение. Укажите номер подчеркнутого фрагмента, в
котором допущена ошибка.
 

If you take into account (1) how young (2) Sam is, you must admit (3) he is doing
excellent progress (4) as a doctor (5).

1) 1 2) 2 3) 3 4) 4 5) 5

Many people think sheep aren’t very intelligent creatures. But in fact, (1) ... to new
research, they may be cleverer than we think. For example, sheep can actually be
trained to recognise human faces from photographs! Recognising faces is an important
human social (2) .... However, it (3) ... that sheep are also social animals that can
recognise other sheep as well as familiar humans. In experiments, researchers trained
eight sheep to recognise the faces of celebrities from photographs. Training (4) ...
getting the sheep to (5) ... decisions about the photos they saw. At one end of a room,
they would see two different photographs, and would receive a (6) ... of food for
coming up to the photograph of the celebrity; if they (7) ... the wrong photograph, they
got nothing. Over time, they learned to (8) ... getting food with the celebrity’s
photograph. And after training, the sheep correctly chose the celebrity's face eight times
out of ten!

25.  Прочитайте текст. Выберите один из предложенных вариантов ответа.
Заполните пропуск (1).
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1) regarding 2) following 3) resulting 4) according
5) concerning

26.  Прочитайте текст. Выберите один из предложенных вариантов ответа.
Заполните пропуск (2).

1) style 2) duty 3) knowledge 4) responsibility 5) skill

27.  Прочитайте текст. Выберите один из предложенных вариантов ответа.
Заполните пропуск (3).

1) discovers 2) thinks 3) seems 4) relies 5) believes

28.  Прочитайте текст. Выберите один из предложенных вариантов ответа.
Заполните пропуск (4).

1) involved 2) concluded 3) consisted 4) held 5) contained

29.  Прочитайте текст. Выберите один из предложенных вариантов ответа.
Заполните пропуск (5).

1) set 2) make 3) have 4) do 5) keep

30.  Прочитайте текст. Выберите один из предложенных вариантов ответа.
Заполните пропуск (6).

1) promise 2) parcel 3) reward 4) amount 5) advantage

31.  Прочитайте текст. Выберите один из предложенных вариантов ответа.
Заполните пропуск (7).

1) managed 2) joined 3) came 4) achieved 5) approached

32.  Прочитайте текст. Выберите один из предложенных вариантов ответа.
Заполните пропуск (8).

1) attach 2) tie 3) add 4) connect 5) adapt

33.  Прочитайте диалог. Ответьте на вопрос, следующий после диалога, вы-
брав один из предложенных вариантов ответа.
 

Man: All I can hand in today is my chemistry homework.
Woman: Is everything all right? You usually have everything completed on time.
What does the woman mean?

1) He usually hands in his assignments late.
2) He hasn’t completed anything, just as usual.

3) He usually completes only his chemistry work on time.
4) He didn’t have time to complete anything.

5) He is usually a punctual student.

34.  Выберите ответную реплику, подходящую по смыслу к предложенной ре-
плике-стимулу.
 
Will you finish today?

1) Yes, I mind it very much. 2) I’d rather you didn’t.
3) I’d better not, thanks. 4) I'm afraid I don't. 5) Yes, I expect so.

35.  Установите соответствие между репликами-стимулами 1—4 и ответными
репликами А—Е. Выберите один из предложенных вариантов ответа. Одна ответ-
ная реплика (А—Е) является лишней.
 

РЕПЛИКИ-СТИМУЛЫ   ОТВЕТНЫЕ РЕПЛИКИ

1.  Hang on a minute. I'll just turn the TV off.
2.  Is it easy to get to the centre of the city from here?
3.  Can I speak to the manager?
4.  I can’t hear you very well.

 

A.  Nothing of the kind.
B.  It's usually OK but I had some problems last night.
C.  No problem.
D.  I’ll just put you through.
E.  OK, I’ll try to speak up.

1) 1C2EЗА4B 2) 1A2DЗE4C 3) 1E2A3C4D 4) 1C2BЗD4E
5) 1A2C3E4D
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36.  Расположите реплики так, чтобы получился связный диалог. Выберите
один из предложенных вариантов ответа.
 

A.   That’s because she’s new though, isn't it? It's always a bit strange when you
have a change of teacher.

B.    Yes, that’s true. Anyway, I wasn’t disappointed with her. She teaches
differently from Mr Hudson, but not in a bad way.

C.  What did you think of the Science class?
D.    It was quite interesting really, although, at first, I didn’t know what to think

about Miss Charles.
E.  Me too.
F.    I know what you mean. Miss Charles encourages us to work things out for

ourselves. Personally, I prefer that way of learning.
1) CEFBDA 2) FABEDC 3) CDABFE 4) DBCFAE

5) FBECAD

§ 1. Sometimes the road to romance is long. ‘Lonesome George’, a giant
Galapagos tortoise, is the last of his subspecies and thus profoundly alone. Living far
out in the Pacific on the island of Pinta in the Galapagos Islands, he is officially the
rarest living creature on Earth.

§ 2. No animal better captures the history of the Galapagos Islands than the giant
tortoise. There used to be thousands of them roaming over these Islands. Observations
of them by Charles Darwin even formed part of his world-changing theory of
evolution.

§ 3. Sadly, however, mostly because for centuries the passing sailors had been
hunting the giant tortoises for food, there are now only an estimated fifteen thousand
left in the Galapagos Islands. Of the fifteen known subspecies, four are already thought
to be extinct, as was the Pinta giant tortoise until Lonesome George was discovered in
1971. This came as a pleasant surprise to scientists since no other Pinta tortoises had
been found on Pinta Island since 1906.

§ 4. Since George was discovered, he has become the star attraction at the Charles
Darwin Research Station where conservationists have been hoping to rescue some of
his genes by mating him with another tortoise. Two females from the nearby island of
Isabela, the most closely related to the Pinta subspecies that could be found, were put
into his enclosed territory with him in 1992, but he failed to take the hint.

§ 5. Then, Professor Jeffrey Powell, an evolutionary biologist from Yale
University, came up with a possible reason why Lonesome George was not finding true
romance with the ladies from Isabela. Perhaps, he suggested, they were simply too
different to him to be a suitable match. Sailors often carried the tortoises from one
island to another, he pointed out. So there could be a perfect Pinta match for George
alive and well on Isabela or even on some more distant island.

§ 6. To begin testing his theory, Professor Powell compared DNA from seven Pinta
tortoises with blood samples from twenty-seven giant tortoises living on Isabela.
Among these samples, they found one tortoise with clear signs of Pinta ancestry (про-
исхождение). Sadly, however, the newly discovered tortoise was not suitable for
George: he was male.

§ 7. Powell with his team intends to return to Isabela and take blood from more
than two thousand tortoises. If they do indeed find a Pinta female, they hope to take her
to George’s territory and attempt to breed the pair. The possibility remains, then, that
Lonesome George may one day not be so lonely after all.

37.  Выберите один из предложенных вариантов ответа в соответствии с со-
держанием приведенного текста.
 

The writer mentions Charles Darwin in order to emphasise
1) his importance as a scientist.

2) the large numbers of tortoises on the Galapagos Islands.
3) the significance of giant tortoises.

38.  Выберите один из предложенных вариантов ответа в соответствии с со-
держанием приведенного текста.
 

According to the third paragraph, scientists were pleased that
1) there was a larger number of tortoises on the islands than previously believed.

2) one subspecies of giant tortoise was not extinct, as previously thought.
3) a new subspecies of giant tortoise had been discovered.
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39.  Выберите один из предложенных вариантов ответа в соответствии с со-
держанием приведенного текста.
 

The writer uses the phrase 'he failed to take the hint’ (§ 4) to show that Lonesome
George

1) didn’t behave in the way the conservationists were hoping.
2) didn’t seem to get on with the tortoises from Isabela.

3) behaved differently to the tortoises from Isabela.

40.  Выберите один из предложенных вариантов ответа в соответствии с со-
держанием приведенного текста.
 

What does the writer suggest about Pinta tortoises in the fifth paragraph?
1) They could have originally come from Isabela Island.
2) Most of them were taken by sailors to Isabela Island.
3) They may be found on islands other than Pinta Island.

41.  Определите значение указанного слова в тексте.
 
captures (§ 2)

1) possesses 2) takes 3) hides

42.  Определите значение указанного слова в тексте.
 
match (§ 5)

1) equivalent 2) partner 3) counterpart

An interview with a couple who own a holiday home in the French Pyrenees
Why did you decide to buy a holiday home here?
We have always loved travelling and spending time in different countries on

holidays. It made sense to us to have somewhere which was our own, where we could
go back to again and again whenever we liked. (1)_________ It has everything we
were looking for: mountains, beautiful scenery, good countryside for walking and there
are towns and a major city nearby. We looked at some very remote places but decided
we wanted to be in a town. We enjoy being able to walk down to the shops in the
morning to get fresh bread and walk to a restaurant for dinner in the evening. It was
important to us that it was easy to get to for short holidays too so the fact that there is
an airport nearby was a key factor. (2)____________ We love both of our houses even
though they are very different in style and in very different places.

How did you find this particular property?
We did some research into the area we liked and we looked at adverts on the

Internet. Then we went to an agency which specialised in property in the area where we
were looking. They were really helpful and in three days they took us to a number of
different houses as well as some empty plots of land with potential for building a new
property. (3)_________ We spent time talking to the couple who were selling it and
looking around the garden в as well as the house. It’s not a big house; there are only
two bedrooms, but it is exactly what we were looking for. It has a fantastic terrace with
views of the mountains. It's very picturesque. In fact it is a beautiful place to have a
holiday at any time of the year.

What do you like most about owning a second home?
(4)___________ We spend lots of holidays here ourselves and sometimes friends

and family join us, but we also let friends and family stay in it by themselves if they
want to. It means the house is occupied more, and the more it is used the better. We also
like that we have met some good friends here. (5)_________ It means we don’t feel
like strangers when we’re here. Another thing we like is that there is always somewhere
new to visit and explore as well as favourite places to go back to.

Would you like to move and live here permanently?
No. We have too much that we would miss back home: good friends and family.

(6)________We might come for a month or more at a time instead of a week or two as
we do now. But we bought it as a holiday home or second home not somewhere to live
all the time. We like having both our homes and don’t want to give up either of them.

43.  Заполните пропуск (1) одним из предложенных текстовых фрагментов
(1−5). Два фрагмента являются лишними.

1) Home buying is an emotional experience that’s personal to each buyer.
2) The weather is usually better than what we’re used to at home with lots of blue
sky and sunshine, even in winter.
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3) And finally we were looking for somewhere in contrast to where we live the
rest of the year.

4) We visited this area a couple of times and we really liked it.
5) The house we now own was actually the last one we saw and we instantly
knew it was perfect.

44.  Заполните пропуск (2) одним из предложенных текстовых фрагментов
(1−5). Два фрагмента являются лишними.

1) Home buying is an emotional experience that’s personal to each buyer.
2) The weather is usually better than what we’re used to at home with lots of blue
sky and sunshine, even in winter.
3) And finally we were looking for somewhere in contrast to where we live the
rest of the year.

4) We visited this area a couple of times and we really liked it.
5) The house we now own was actually the last one we saw and we instantly
knew it was perfect.

45.  Заполните пропуск (3) одним из предложенных текстовых фрагментов
(1−5). Два фрагмента являются лишними.

1) Home buying is an emotional experience that’s personal to each buyer.
2) The weather is usually better than what we’re used to at home with lots of blue
sky and sunshine, even in winter.
3) And finally we were looking for somewhere in contrast to where we live the
rest of the year.

4) We visited this area a couple of times and we really liked it.
5) The house we now own was actually the last one we saw and we instantly
knew it was perfect.

46.  Заполните пропуск (4) одним из предложенных текстовых фрагментов
(1−5). Два фрагмента являются лишними.

1) We love that we can share it with our friends and family.
2) Next year we will both retire and then we will be able to spend much more
time here.
3) That wasn't a very good start to our holiday but it is lucky it happened to us
and not friends of ours.
4) It is so nice each time we come out to have a group of people to spend time
with and social events to go to.
5) When your emotions are involved in a purchase, there’s a possibility that those
emotions can get out of hand.

47.  Заполните пропуск (5) одним из предложенных текстовых фрагментов
(1−5). Два фрагмента являются лишними.

1) We love that we can share it with our friends and family.
2) Next year we will both retire and then we will be able to spend much more
time here.
3) That wasn't a very good start to our holiday but it is lucky it happened to us
and not friends of ours.
4) It is so nice each time we come out to have a group of people to spend time
with and social events to go to.
5) When your emotions are involved in a purchase, there’s a possibility that those
emotions can get out of hand.

48.  Заполните пропуск (6) одним из предложенных текстовых фрагментов
(1−5). Два фрагмента являются лишними.

1) We love that we can share it with our friends and family.
2) Next year we will both retire and then we will be able to spend much more
time here.
3) That wasn't a very good start to our holiday but it is lucky it happened to us
and not friends of ours.
4) It is so nice each time we come out to have a group of people to spend time
with and social events to go to.
5) When your emotions are involved in a purchase, there’s a possibility that those
emotions can get out of hand.
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Zoos are a tradition, and a visit to a zoo is a wholesome, family activity. Modern
zoos save (1) ... (DANGER) species by bringing them into a safe environment, where
they are protected from poachers, habitat loss and starvation. They give their animal
guests much more space. The animal areas no longer look like cages, but wide open
parkland. It is a much more pleasant (2) ... (SOLVE) as the animals appear to be free
while they are actually in a very protected environment which is (3) ... (COMPLETE)
unpolluted and they have no shortage of good nourishing food. In fact the animals seem
(4) ... (AWARE) of their captivity and relaxed while living in a controlled conservation
area.

49.  Прочитайте текст. От приведенного в скобке (1) слова образуйте ОДНО-
КОРЕННОЕ слово таким образом, чтобы оно грамматически и лексически соот-
ветствовало содержанию текста. Заполните пропуск (1). Помните, что заданную
форму слова необходимо изменить.

50.  Прочитайте текст. От приведенного в скобке (2) слова образуйте ОДНО-
КОРЕННОЕ слово таким образом, чтобы оно грамматически и лексически соот-
ветствовало содержанию текста. Заполните пропуск (2). Помните, что заданную
форму слова необходимо изменить.

51.  Прочитайте текст. От приведенного в скобке (3) слова образуйте ОДНО-
КОРЕННОЕ слово таким образом, чтобы оно грамматически и лексически соот-
ветствовало содержанию текста. Заполните пропуск (3). Помните, что заданную
форму слова необходимо изменить.

52.  Прочитайте текст. От приведенного в скобке (4) слова образуйте ОДНО-
КОРЕННОЕ слово таким образом, чтобы оно грамматически и лексически соот-
ветствовало содержанию текста. Заполните пропуск (4). Помните, что заданную
форму слова необходимо изменить.

(1)    ... school, college or university would be as effective without a library.
Libraries are essential in these places, as are public libraries in our towns and cities.
But we have to accept that times are changing, books are cheaper to buy, people spend
less time reading books, and consequently, libraries aren't as busy    (2)    ... they once
were. Besides that, the Internet provides us with so   (3)    ... to read, that old books in
libraries now have some serious competition. But despite this, I think that we still need
libraries, and they must adapt in order  (4)  ... to disappear.

53.  Прочитайте текст. Заполните пропуск (1) только одним словом, подходя-
щим по смыслу. Слово должно содержать не более 15 символов.

54.  Прочитайте текст. Заполните пропуск (2) только одним словом, подходя-
щим по смыслу. Слово должно содержать не более 15 символов.

55.  Прочитайте текст. Заполните пропуск (3) только одним словом, подходя-
щим по смыслу. Слово должно содержать не более 15 символов.

56.  Прочитайте текст. Заполните пропуск (4) только одним словом, подходя-
щим по смыслу. Слово должно содержать не более 15 символов.

57.  Прочитайте текст. Выпишите по два лишних слова в порядке их предъяв-
ления в тексте. Каждую букву пишите в отдельной клеточке, не оставляя пробе-
лов между словами.
 

This incredible shop started out as a small, one-room grocery store in
Knightsbridge, Central London, in 1849, is now one of the so best known stores on
Earth! Harrods which is one of London's greatest tourist attractions.

58.  Прочитайте текст. Выпишите по два лишних слова в порядке их предъяв-
ления в тексте. Каждую букву пишите в отдельной клеточке, не оставляя пробе-
лов между словами.
 

Harrods has 7 floors and 330 departments selling it everything from designer
fashion to luxury furniture. It also has 27 restaurants and cafes, a world-famous food
hall where you can even though order your own ice cream flavour.

59.  Переведите на английский язык фрагмент предложения, данный в скоб-
ках.
 

I can’t buy this T-shirt: I have got very (мало) money in my purse.
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60.  Переведите на английский язык фрагмент предложения, данный в скоб-
ках.
 

Bob never lies to you, (не так ли)?


